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All questions are compulsory.

Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.

‘e’ wiHifd Fea-a9 § @d gY 8 TR THEE 8 ?

How is ‘bandwagon’ strategy beneficial within the hegemonic system ?

IR T 1989 ¥ 2014 % I hl TS hl TLHRI 1 T AT gl ATl & 2

Why is the period from 1989 to 2014 called an era of coalition
governments in India ?
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11.

12.

13.

14.

59/2/1

a7Tfefer T @ & fou freft gd <hi wifeg =61 siifecy fafgu | 1

Justify the abolition of Privy Purses for bringing about economic equality.

I 3TCIA-l bl gdlcdTiad &l Tal fohdT ST Ty 2 1
Why should popular movements not be discouraged ?

ek X1 I fore €A1 0 ATIETE | YSaTg i %, HhAUT I o S
TR heT ST Tehdl & ? 1

How far can Shock Therapy be called the best way to make the transition
from Communism to Capitalism ?

g dH W Al H 9ET o Tt WRa hl fhgl IR Teifae aifet o
WW' 4)(%:2

Mention any four political parties of India which participated in the first
three general elections.

T STE-ITE 6 &7 hl TG0 ¥ & % f7¢ H1g a 39 GATs | 2x1=2

Suggest any two measures to protect your surroundings from pollution.

JTSRTuT o AT ST e ¥ fopd Q1 &l o1 JHeifud ol 9M8d & ? 2x1=2

The critics of globalisation want which two areas to be revived
economically ?

Al o o ®9 § Tsh-geld YUmelt, @ifedd SHar & foe etogafd o
A =T G FA 51 TS 2 2
Why did the one-party system, represented by the Communist Party,
become a source of dissent and dissatisfaction among the Soviet people ?

31Uk BRI o6 fohel Teh TohRIcHeh STTfeh TWTE ohl TS T | 2
Explain any adverse economic impact of Nuclear Weapons.
U T % 3T <M W AT qAT TSIk THTEl 31 U HIfT | 2+2=4

Describe the economic and political influence of the European Union on
other countries.

YA 3R =4 o sfte fqarg o fohrgi @) gei ol 9l hiferg | 4dx]1=4
Describe any four issues of conflict between India and China.

qRA <h! L&A WHITG o fohedl g1 Teehl 6l Samen i | 2x2=4
Explain any two components of India’s security strategy.

TeE-gH sl TEHRT o Tohrdl Q1 TehRIcH THUIHI hl IATR FHIFT | 2x2=4

Highlight any two negative outcomes of the coalition governments.
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fore €t qep fopelt @ H & el Stidied o foier oY shriamgal wrehas
Hge ST 8 ? ¥ T |

How far do movements and protests in a country strengthen democracy ?
Explain.

39 GHY i IR & YR W TST TS STRAT h TATAAT i ==
firg shifsre |

Justify the constitution of States Reorganisation Commission under the

circumstances prevailing at that time.

fr= few U staquer skt wa @ ufeu ot f=fafgd g & s dfse ;. 14242=

Gh T TR 5 IAH o G W& ... W g S T |
AT o HHYHI T b AT foh Ig I Foal-H-Slegl THTE i qAT ITHIHI
AR el Tegi <l S Y T B B Uehd o I G0 0] 58 feen sl o |
Jawm gg B wwifed w1 R w1 gen R Afves weHifa % W= oW @
HETIRAT <Rl 3¢d &1 T S foawd <hl fordt Y = sl uutfad s <hl &wan
Tt off |
G) Tedia fova gg & oc Az worifa & w9 W 32¥ B @l @

HETTTRal <hl Iga hIfT |
(i) 39 3 HEIRAl % 3T B o Ry shi sarEdn HIfu |
(i) 3 weAT fava o =&l ft g aTelt gt & hd g9 L Fehd!

off 2 e Hifs |

Read the given passage carefully and answer the following questions :

The United States dropped two atomic bombs on the Japanese
cities of ..... . The supporters of U.S. have argued that the dropping of the
atomic bomb was necessary to end the war quickly and to stop further
loss of American and Allied lives. ..... the consequence of the end of the
Second World War was the rise of two new powers on the global stage
with the ability to influence events anywhere on earth.

) Identify the two new powers that rose on the global stage after the
Second World War.

(i)  Explain the outcome of the emergence of these two new powers.

(iii)) How could these powers influence events anywhere on earth ?
Explain.



18. 9 feu staaww =« 9 ufen i fmfaRaa yeai & 39w &S . 1+2+2=5

ANTE o It fegea™ o md faeh@ & @ wisa 9 | 9l 3qramel -gsiarel

Higd o1 | JUU o AfUhal feedl 3R T T mden § J& Hisd AT

T AT | GEU HASIEE] HISHA o7 | 39 Gifedd € A A AT | ... 39 ok

feged™ o 9gd-8 <M foepre & Hiforrd Aisd § Tl dR 0 yTfad o | U &

H AR HEIME Il & & T8l dfesh dIefoRe 9él 3R gg Hhidd o 5& ah

A 9 | ST TS o YSfiardt Tk o s sgd 7 9 |

(i) T9dF 9RA <% 9@ o= snygfes fowhe % qf ATl & o9 3R
e T |

(i) 9 A faem % forg wigd i ORI R F=41 2

(i)  YSfardl wisa 1 queH Fgd & wH WRAE Aareti 4 @i o ?

Read the given passage carefully and answer the following questions :

On the eve of Independence, India had before it, two models of modern
development : the liberal — capitalist model as in much of Europe and the
U.S. and the socialist model as in the U.S.S.R. There were many in India
then who were deeply impressed by the Soviet model of development.
These included not just the leaders of the Communist Party of India, but
also those of the Socialist Party and leaders like Nehru within the
Congress. There were very few supporters of the American style
capitalist development.

1) Differentiate between the two models of modern development
under consideration before independent India.

(ii))  Which model of development did India adopt and why ?
(iii)) Why did very few Indian leaders support the capitalist model ?

19. = feu 7u sraquer 1 srewEA hifve g Fefafgd ge & S AT 24714225

gfeq Tiel} Uk herar dd1 o ®Y H IWH off 3 I ARNEAl U TH W
off | 30 QR H qonTd Jicwddi shal SAQ1 diEl 3R gellehd &1 aat off | 39 Ifaly
T rTreh! 3 TR & 9Hl fodt ¥ off a9e 1 | g IR |
TR hl hs YgIeheHal ! Gfau™ o foeg wrr | 09 9l &1 71 o o6
JTSTAd hT Ig LT Alhdd o THgal 3T e shl Tar=adl o fa8g & | g o
Ig Y oft R foh STeTed U genfeufaand! gwer 8 3 I8 gE T <kl
AN TG AT HeAT0-HRIHAT I ARL HH hHl TG | TS eH @ & | HA
o fouer O S T 9, 3% & W o foh Wt TR okl St ITfereh R ATeeRt
TEAATA ToharT T @ ® SR USHIG 88 | STeT SFReTd gt off &l 8 |
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()  wUEEE o &9 § iU e i R @ IuATeNl 7 3H Tk e adl
I AR =T &7 feam ?

(i) I AT N IHAYTEF hg IH T fhHl Teh TRl 9@ 6l
TgEH IR |

(i) TS Sl AH IFA AT I FHeAHR HRHAI Bl IATR HINT g
SHIUH ] T =gt off |

Study the passage given below and answer the questions that follow :

Indira Gandhi had emerged as a towering leader with tremendous
popularity. This was also the period when party competition became
bitter and polarised. This period also witnessed tensions in the
relationship between the government and the judiciary. The Supreme
Court found many initiatives of the government to be violative of the
Constitution. The Congress party took the position that this stand of the
Court was against the principles of democracy and parliamentary
supremacy. The Congress also alleged that the Court was a conservative
institution and it was becoming an obstacle in the way of implementing
pro-poor welfare programmes. The parties opposed to the Congress felt
that politics was becoming too personalised and that governmental
authority was being converted into personal authority.
(1) Which two achievements of Indira Gandhi as the Prime Minister
made her a towering leader with tremendous popularity ?
(ii)  Identify any one initiative of the government which was found
unconstitutional by the Supreme Court.
(iii) Highlight the pro-poor welfare programmes which the Congress
wanted to implement.

20. feu MU ST w1 srem Hifsre qen fFrafaRad et & 3@ @i 1+2+2=5
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Note :
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(20.1) = =1 fo@m & fote wmgferat i st g1 T 2
(20.2) @Tfehal o g dfgat | fe@me U fag s 2 2 3 fag *a- @ snifdes
formamuatt = gfafafica s 8 2

(20.3) TE IS FI1 T el & ?

Study the cartoon given below and answer the following questions :

(20.1) Why has the bicycle been chosen to represent China ?

(20.2) What do the symbols within the two wheels stand for ? Which two
economic ideologies do the symbols represent ?

(20.3) What message does the cartoon convey ?

HETfeTiad F97 Fac gisaTiaa gheferarl & 1og, 97 &1 20 & T W& |

The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20.

(20.1) TH T A0dehRT a9 == 6t e7fes At & = Fm Tse Hifve |
(20.2) IHAT B8 <1 TGN o FHRIHE THE! Hl TheH HIT | 2+3=5

(20.1) Differentiate between the economic policy of the U.S. and that of
China.

(20.2) Assess the negative impacts of the rising Chinese economy.

7 P.T.O.



21. feu U wraE & UsHifas WEwmtE |, o s sl @), @), ©, © aur
® @ fafea fopan T 8 | A= S T8 IR % YR W gl 989 HIfT
3N IWYFahT H Ik TE M, STh! U HEAT qYT TrEfad FeR Higd
fafew : 5x1=5
(i) ORI, YR 1 2981 TSH |
(i) 9% ST &l HIUH Y1 1 A AT 1959 H 83T |
(ii) 98 Us¥ 58 18 Hal™ TUSY <hal SITdl o7 ?

(iv) 98 Usd |8 arardt 4T 3.00. 0. THelurg 1 avey o |
(v) 909 WRA i JIH e W, THAN ST R 1 T8 T |
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In the given political outline map of India, five States are marked as

@), B, 0, D and® . Identify them with the help of the information

given below and write their correct names in your answer-book along

with the serial number of the information used and the related alphabet

in the map :

(i)  The 29t State of India, Telangana.

(i1))  The State where Nagpur Session of the Congress Party was held in
1959.

(iii) The State which used to be called the Madras State earlier.

(iv) The State to which the Communist leader E.M.S. Namboodiripad
belonged.

(v)  The home State of Rajkumari Amrit Kaur, the first Health

Minister of free India.
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22,

23.
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FHefeTiaa o7 Saer gieamaa qhemdal & g, 397 9691 21 & T |
The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) 1960 T @+t foueft gai 3 <o 9T § 1 fiehT T off 2

(21.2) TS I AATT 7 HIUH Bl BIGhL T TTET hl TATTAT F1 I 2
(21.3) Toemu™ & MR W, 59 9 fohH TR 317 T 4 fie ot 2 2+2+1=5

(21.1) What role did the opposition parties play in the Lok Sabha up to
1960 ?

(21.2) Why did some Congressmen leave the Congress and form the
Swatantra Party ?

(21.3) How was the Jana Sangh different from other parties in terms of

ideology ?

TSHIfdeh el @ Tdd STelddl 8 1 AU 8 2 39 YR o ATl hl

e foearedt 1 avia i | 2+4=6
areran

1979 ¥ YFY g FEH QI o fash@ &1 aui HINY | 1985 § ol

Tsfia e < W1 g I o G TEEH H1 Ieci@ i | 4+2=6

What is meant by non-party movements ? Describe the main features of such
movements.

OR
Describe the development of Assam Movement from 1979 onwards. State
the main provision of the agreement made with Prime Minister
Rajiv Gandhi in 1985.

ifead gureft <kt fepral o9 famsarstt =1 9o i | 3x2=6
TgqAT

HEIIIRRAT bl BId <M o T1Y O Teaed s & fou forg gfifeafa 3 smew

foram 2 v hifse | 6

10
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25.
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Describe any three features of the Soviet system.
OR

What circumstances compelled the super-powers to have military

alliances with smaller countries ? Describe.

1971 % TG § 3fqu et St Areshir Sfia o fou et fopedl i weht it
et IS | 3x2=6

A AT
1977 % TATE! H HII UTE hl WIS o fohrgl i HRUN ol T HINT | 3x2=6

Explain any three factors responsible for the dramatic victory of
Indira Gandhi in the elections of 1971.

OR

Explain any three reasons for the defeat of Congress Party in the 1977
elections.

“Imlient o WY FEEEGT § gUR A1 YRG o 0T STcaeeh HEaqet 7 |7 @

3T 39 YT § TEHA & ? IUYh qohl g 7T I hi gfse FHifT | 6
areran

gfeqor wfSen & <o & ofiw onfde wga I U R wH H g@w (k)

fHeRT 3R HHIS T oA I | 6

“It is very important for India to improve its relations with the U.S.”. Do
you agree with this statement ? Support your answer with suitable
arguments.

OR

Evaluate the role and limitations of SAARC as a forum for facilitating

economic cooperation among Asian countries.

11 P.T.O.
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27.
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TUehTE fava & Teh s St S-S Teenati o Ugwd 1 SATehed hif |
arora

T, ATdhaTg 3T TEMENT S @ali ol Gepreell i o ol Yid i fhd
TR <hl T shl Tnifiehar <t <Mfew 2 379q gara e |

Assess the importance of international organisations like the United
Nations in the contemporary world.

OR

Suggest the type of security India should prefer to fight the threats like
poverty, terrorism and epidemics.

YR 7 YRA 1 hH JTd foham 8 3 WA SREehiul ol e guTfad o
TET 8 ? SUIRH ki gRI 379 I hi g hIfrg |

HAIAT

“arsht frwerfal afr sam-srem e’ — 38 fagra &1 3qe dfed
Treur I |

How has globalistion impacted on India and how is India in turn
impacting on globalisation ? Support your answer with suitable
arguments.

OR

Examine the concept of “Common but differentiated responsibilities” with
the help of examples.
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